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QUESTION 1

Which of the following expressions evaluate to True? (Choose two.)
A.Tin\V' in “Thames\\'

B. “in\V' in tin\\

C. ‘in not\\' in “not\\

D. "t\W.upper() in "Thames\\'

Correct Answer: BD

QUESTION 2

Assuming that the code below has been executed successfully, which of the following expressions will always evaluate
to True? (Choose two.)

import random

vl = random.random()
vZ2 = random.random ()

A.vl==v2

B. vl

C. random.choice([1,2,3]) > 0

D. len(random.sample([1,2,3],1)) > 2

Correct Answer: AC

QUESTION 3

Which of the following expressions evaluate to True? (Choose two.)
A. str(1-1) in ‘123456789'[:2]

B. ‘dcb’ not in ‘abcde’[::-1]

C. ‘phd’ in ‘aplpha’

D. ‘True’ not in ‘False’
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Correct Answer: AD

QUESTION 4

What is the expected behavior of the following code?

X 3 $ 1
y = 1 if x > 0 else O
priant (y)

A. the code is erroneous and it will not execute
B. it outputs 1
C. it outputs -1
D. it outputs O

Correct Answer: D

QUESTION 5

Which of the following expressions evaluate to True? (Choose two.)
A 121 +11=1 +2*2

B.'1"+1"+0

C. ‘AbC’.lower()

D. '3.14’ != str(3.1415)

Correct Answer: BD
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